EP

fastening systems

Y e» TJEP model F16/50 ™ ™" 17

K | DYKKERPISTOL / FINISH NAILER 15 - 50 MM R

Warning: Please read the
instructions and warnings for

E this tool carefully before use.
Fai!ure t.o .do so could lead to I(H D E E Ra

serious injury.



D Vi gnsker Dem tillykke med Deres nye TJEP trykluftpi-
stol. Ved korrekt behandling og vedligeholdelse vil De
have gleede af Deres pistol i mange ar fremover.

Veerktojet er effektivt og palideligt, nar det anvendes korrekt og med
omtanke. Producentens anvisninger skal fglges for at opna den op-
timale ydelse. Lees derfor venligst denne manual igennem, og veer
sikker pa at forsta alle sikkerhedsforskrifter, for veerktejet tages i
brug. Instruktionerne for installation, anvendelse og vedligeholdelse
ber gennemlzeses ngje, og manualen bgr gemmes som opslags-
veerk. BEMAERK: Yderligere sikkerhedsforanstaltninger kan vaere
pakreevet pa grund af Deres specifikke anvendelse af vaerktgjet.
Kontakt Deres repraesentant eller forhandler, hvis De har spgrgsmal
vedrgrende veerktgjet og anvendelsen heraf.

N Vi haper du far stor glede av din nye TJEP pistol. Ved
korrekt behandling og vedlikehold vil du ha nytte av pisto-
len i mange ar fremover.

Dette verktoyet er beregnet pa festeoppgaver i storre skala. Verk-
tayet er effektivt og palitelig nar det brukes korrekt og med omtanke.
For a oppna den optimale ytelsen skal produsentens anvisninger
felges. Les derfor gjennom denne bruksanvisningen, og veer sikker
pa at du forstar alle sikkerhetsforskriftene for verkteyet tas i bruk. Ta
vare pa bruksanvisningen for senere bruk.

Merk! Ytterligere sikkerhetsforskrifter kan veere pakrevd pa grunn
av den spesifikke oppgaven du vil bruke verktoyet til. Kontakt din
forhandler hvis du har spgrsmal vedrerende verktoyet og bruken

av det.

G We congratulate you on your new TJEP pneumatic nailer.
With correct care and maintenance you will have the
pleasure of your nailer for many years to come.

The tool is effective and reliable when used correctly and wisely.
The manufacturer’s instructions must be followed to achieve optimal
performance. Therefore, please read this manual through and be
sure to understand all the safety rules before you start using the
tool. The instructions for installation, use and maintenance should
be read carefully and the manual should be kept as reference.
NOTE: Additional safety measures may be required because of
your specific use of the tool. Please contact your representative

or distributor if you have any questions regarding the tool and its
application.

Gratulujemy Panstwu zakupu nowej gwozdziarki TJEP.
Wykonujac prawidtowo serwis i konserwacje bedziecie
uzywac gwozdziarke wiele lat.

PL

Narzedzie jest skuteczne i pewne jesli uzywane jest prawidtowo

i madrze. Instrukcja obstugi wskazuje jak osiagna¢ optymalng prace
narzedzia. Przed rozpoczeciem pracy z narzedziem instrukcje
obstugi nalezy doktadnie przeczytac i zrozumie¢ wszystkie zasady
bezpieczenstwa. Wszystkie informacje dotyczace instalacji, uzycia

i konserwacji musza by¢ doktadnie przeczytane a instrukcja obstugi
musi by¢ trzymana jako dokument odniesienia.

UWAGA: W szczegdlnych wypadkach uzycia narzedzia moga by¢
wymagane dodatkowe $rodki bezpieczenstwa. W przypadku dodat-
kowych pytan odno$nie narzedzia lub jego uzycia prosimy o kontakt
z dystrybutorem lub przedstawicielem.

Vi hoppas att ni ska fa mycket gladje av er nya TJEP
pistol. Med korrekt hantering och underhall kommer ni att
kunna nyttja pistolen i manga ar.

SE

Detta verktyg ar avsett fér snabb och yrkesmassig infastning. Det
ar effektivt och palitligt om det anvands korrekt och forstandigt. For
att uppna optimal prestanda ska tillverkarens anvisningar foljas.
Las darfér noga igenom manualen och se till att du forstar alla
sakerhetsforeskrifter innan verktyget tas i bruk. Spara bruksanvis-
ningen for framtida behov.

Observera! Ytterligare forsiktighetsatgéarder kan gélla vid sarskild
anvandning av verktyget. Kontakta er aterforséljare vid fragor anga-
ende verktyget eller dess anvandning.

Toivomme, etté olet tyytyvainen ostamaasi TJEP naulain.
Kun kasittelet ja naulainta oikein, se palvelee sinua monia
vuosia.

Fi

Tama tyokalu on tarkoitettu nopeaan ja ammattimaiseen kiinnitta-
miseen. Oikein ja jarkevasti kaytettyna se on tehokas ja luotettava
apuvaline. Noudata almistajan ohjeita, niin saat tyokalustasi
parhaan hyddyn. Lue siis kayttdohje huolellisesti ja varmista, etta
ymmarrat kaikki turvaohjeet ennen kuin otat tyékalun kayttéon. Pida
kayttoohje tallessa mydhempaa tarvetta varten.

Huomio! Tyokalun erityisissa kayttokohteissa voidaan tarvita
ylimaa & varotoimia. Ota yhteytta jalleenmyyjaan, jos sinulla on
kysyttavaa tyokalusta tai sen kaytosta.

D Wir gratulieren lhnen zu lhrer neuen TJEP Druckluftnagler.
Bei richtiger Pflege und Wartung werden Sie viele Jahre
Freude an lhrer Nagelpistole haben.

Das Werkzeug ist effektiv und zuverlassig, wenn es korrekt und

mit Vorsicht angewandt wird. Die Anweisungen des Produzenten
missen befolgt werden, um die optimale Leistung zu erzielen. Lesen
Sie daher bitte diese Anleitung durch und achten Sie darauf, dass
Sie alle Sicherheitsvorschriften verstehen, bevor das Werkzeug in
Gebrauch genommen wird. Die Anleitungen fiir Einbau, Betrieb und
Wartung sollten sorgféltig durchgelesen werden und das Handbuch
sollte als Nachschlagwerk aufgehoben werden. BEACHTE: Zusatz-
liche Sicherheitsmanahmen kdnnen aufgrund lhrer spezifischen
Anwendung des Werkzeugs erforderlich sein. Wenden Sie sich bitte
an lhren Vertreter oder Handler, wenn Sie Fragen zum Werkzeug
und zur Anwendung des Werkzeugs haben.

E Me &nnitleme teid uue naelapiistol. Oige ravi ja hooldus
on teil hea meel teie naelutaja paljude aastate jooksul.

Tooriist on téhus ja usaldusvaarne, kui seda kasutatakse Gigesti

ja targalt. Tootja juhistele tuleb jargida, et saavutada optimaalne
tulemuslikkus. Seega, palun lugeda juhend hoolikalt Iabi ning
veenduge, et olete kdikidest ohutuseeskirjadest Gigesti aru saanud,
enne toodriistaga toole asumist. Enne seadme seadistus, kasutamist
ja hooldust, tuleks kasutusjuhend hoolikalt I&bi lugeda ning kasira-
amat tuleks sailitada.

MARKUS: Taiendavad turvameetmed véivad olla vajalikud, sest
oma spetsiifilise kasutamisega vahend. Palun pddrduge esindaja voi
levitaja Kui teil on kiisimusi todriista ja selle rakendamine.



Technical specifications

Model TJEP F-16/50

TJEP no. 100416

Lenght 252 mm

Width 63 mm

Height 242 mm

Weight 1.28 kg

Capacity 100 finish nails

Pressure 5.5 —7.58 bar (80 — 110 psi)
Diameter, nails 1,6 mm

Length, nails 15-50 mm

Angle 0°

Type Finish nails 0° e.g. TJEP TF-16
Lpi28 89.3 dBA

LpyTs,1m 102.3 dBA

ahwz 2,3 m/s?

Air consumption per cycle

0.778 litres (8 bar)

Declaration of conformity

declare under our
sole responsibility
that the

to wich this declara-
tion relates are in
conformity with the
following standards
or other normative
documents:

Authorized contact
in EU to compile
the Technical File:

DE POAN PNEUMATIC CORPORATION,
No. 81, Museum Rd., Ba-Li Shiang,
Taipei Hsien 249, Taiwan R.O.C.

Pneumatic nailer TJEP F-16/50

Machinery Directive 2006/42/EC
EN ISO 12100:2010 - ISO 11148-13:2018
EN 12549+A1:2008 - ISO 8662-11+A1:2011

Signed:

~

(Quality Manager)

200 |15

KYOCERA UNIMERCO Fastening A/S
Drejervej 2, DK-7451 Sunds

Tel: +45 97 14 14 40

Mr. Ebbe Hornstrup

Date:




TJEP F-16/50







Spareparts

ITEM PART NO. DESCRIPTION ITEM PART NO. DESCRIPTION

NO. NO.

1 A0000-1211 SCREW 4*8 40 K0500-0341 TRIGGER SET

2 A0005-0081 WASHER 12*5*1 41 A0923-0391 LOGO PLATE

3 A0304-0251 EXHAUST COVER 42 A0923-0411 LOGO PLATE

4 A0200-1441 O-RING 8*2.5 43 A0005-0041 E-RING ¢2.5

5 K0300-1851 CYLINDER CAP SET 44 A0711-0841 RELEASE CATCH (C)
6 A0311-0022 SEAL, AIR 45 A0011-0181 SPRING PIN 3*8

7 A0311-0231 SEAL, AIR 46 A0200-4301 O-RING 4.4*1.8

8 A0200-1482 O-RING 51*1.6 47 A0004-0181 SAFETY ADJUSTMENT WHEEL
9 A0100-0791 SPRING 27.4*25L 48 A0711-0831 RELEASE CATCH (B)
10 A0200-0051 O-RING 13.8*2.4 49 A0006-0491 PIN 2.9*13

1 A0200-1452 O-RING 31.8*2.45 50 K0800-0111 DRIVER GUIDE COVER SET
12 A0308-0272 HEAD VALVE PISTON 51 A0000-0071 SCREW M5*16

13 A0311-0221 SEAL, AIR 52 A0800-0211 SPACER

14 A0200-1492 O-RING 24.7*2.7 53 A0801-1973 DRIVER GUIDE

15 B0600-2861 PISTON SET 54 A0000-0211 SCREW M4*10

16 A0200-1461 O-RING 32*2 55 A0710-0272 SPACER

17 A0800-0401 SPACER 56 K0700-3421 MAGAZINE ASS'Y

18 A0200-1471 O-RING 50*2 57 A0706-0561 SUPPORT

19 A0201-0041 RING 58 A0005-0031 WASHER #5*1.2t

20 A0303-0292 CYLINDER 59 A0000-0061 SCREW M5*12

21 A0309-0431 BUMPER 60 A0000-0521 NYLOK SCREW M4*12
22 A0005-0341 WASHER 53.8%46.6*0.6t 61 A0715-0161 MAGAZINE STOP

23 A0006-0501 PIN 2.9*25.5 62 A0001-0001 SCREW M4*18

24 A0011-0161 SPRING PIN 3*24 63 A0011-0011 SPRING PIN 2*10

25 A0005-0311 PIN RETAINER 5.52 64 A0204-0461 GRIP

26 A0005-0291 PIN RETAINER 6*2.9 65 A0719-0071 SPRING HOLDER

27 A0205-0131 GASKET 66 A0102-0052 SPRING SET

28 A0306-0261 TAIL COVER 67 A0707-0921 PUSHER PLATE

29 A0204-0481 HANDLE GRIP 68 A0707-0891 PUSHER

30 A0000-0021 SCREW M4*16 69 A0700-1101 UPPER MAG.

31 A0005-0051 WASHER #4*1t 70 A0011-0131 SPRING PIN 3*10

32 A0709-0301 CLICK LEVER 7 A0718-0141 TAIL COVER

33 A0101-0191 SPRING 8.5*38L 72 K0300-1711 HEAD VALVE PISTON SET
34 A0006-0411 PIN 3.9*20.7 73 K0300-1691 SPACER SET

35 A0401-0611 BODY 74 K0700-2531 RELEASE CATCHASS'Y
36 A0310-0321 NOZZLE WASHER 75 A0708-0321 STEEL BAR

37 A0712-0341 SAFETY GUIDE PLATE 76 A0701-1202 LOWER MAG.

38 A0100-0811 SPRING 6.6*28.5L 7 A0003-0041 SET SCREW 4*6

39 K0500-0351 TRIGGER VALVE SET 78 A0307-0331 AIRPLUG




The TJEP range

Coil nailers Finish nailers

Gas-powered nailers

Nailers and staplers for every job
www.tjep.eu



TJEP

fastening systems

KHOCERd

KYOCERA UNIMERCO Fastening A/S
Drejervej 2

DK-7451 Sunds

TIf. +4597 141440

Fax +4597 141486
tjep@kyocera-unimerco.com

© KYOCERA UNIMERCO 01.20



